Appendix D—Polar Diagrams of Selected Frequencies

104



Sounding 1PT1

USGS
|
x %T )x
x x
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
< X X X =
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
x X X
x
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X X X
) @ @ .
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
x
f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding 2PT1

.l
v
5
i

¥

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

4
el
ks
P

&

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

g
&
5

L

&

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

*
B)
ko)
s

X

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

B

G
R

B

SV

f= 22.50 Hz

o

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding 3PT1
x
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
x f X X % é X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X X
X
x
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
X X X X X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X X X X X
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
X

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance
= Impedance Strike

= Tipper Magnitude
/Strike

= Induction Arrow
(to conductor)

x
0
0 1



USGS

Sounding 4PT1

;84

&

)

N
5

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

ot

<

P

H

3>

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

B

ol

i)

G5

o'oY

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

oo}

H

%

%

&

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

)

&

&

9SS

S

f= 22.50 Hz

S

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding 6PT1

X X X S X % X é

f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X X % X X «

f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz

X
X
x
X
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
X X X x X

f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X X X X X

f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

¥

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



Sounding 7PT1

USGS
X X % E %X A ﬁ
X
£=0.0007 Hz £=0.0011 Hz £=0.0020 Hz £=0.0034 Hz £=0.0055 Hz

acl

)

.

)
Ie]

f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X \ :
X x X
| @ ' .
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz

. x

. :

. X

l :

l i

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

. ’

' -

' )

l ’

' X

f= 22.50 Hz

.H X

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding 8PT1
X X X
X X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz

X

>

. %

I *
X
lH x

e X

f=320.00 Hz

f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
x x % x
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



Sounding 9PT1

USGS

el
5

ka2

S5

f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
:‘ X A x x X
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz

.X
©)
&
)
)

f= 13.70 Hz

f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz

.><
.><
)
.X
-X

f= 22.50 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

. x

f=320.00 Hz

= Zxy Impedance

= Zxx Impedance
x = Impedance Strike
——— = Tipper Magnitude
0 ! /Strike

_ = Induction Arrow
0 ! (to conductor)



USGS Sounding 12PT

x x
X
X
X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X

f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz

X X X X
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz

X X X X X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz

X

£
by
)
8
2l

f= 2250 Hz f=40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

x

f=320.00 Hz

—_— = Zxy Impedance
= Zxx Impedance

X

= Impedance Strike

= Tipper Magnitude
/Strike



USGS Sounding 13PT
; X X i
X X
X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X X X
x X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
x
X X x
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X
X
X X
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

()

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding 15PT

X X x x
x
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X X E x % X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
« i % X X x
X ‘
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
x X x X x
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X x X
‘ ‘ ‘ X
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
X
f=320.00 Hz

—_— = Zxy Impedance
= Zxx Impedance
x = Impedance Strike
————— = Tipper Magnitude
0 ! /Strike
= Induction Arrow
(to conductor)



USGS

Sounding 16PT

K3

2

i

X

f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
x
X X X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz

%X
@

' X

&)

' X

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

' X

&)

&)

©)

&)

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

‘ X

‘ |

. |

' X

. |

f= 22.50 Hz

©,

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance

= Zxx Impedance

x = Impedance Strike

= Tipper Magnitude
/Strike

= Induction Arrow
(to conductor)



USGS

Sounding HHO1

he
e

&
D

§e

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

®

D

D

D
D

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

D

.><

o)

X

X

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

X
X

O
O

O

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

O

O

0O

l ’

. X

f= 22.50 Hz

I X

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding HHO2
X X
x
X
X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X
% X &(
X
X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X
X
X x %
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
X
X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X X X X
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

. X

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding HHO3

e
Ry
&
5
&5

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

oS

5
5

S

S9)

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

D

©
€5)

@y

.><

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

.><

.><

‘X

-X

'X

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

.><

.><

'X

.><

. X

f= 22.50 Hz

. X

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding KKO1

%

S

X

&

N

f=0.0055 Hz

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

&

o

>

D

.X

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

%X

&

‘X

@X

&

f= 1.02Hz

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

.><

.><

.><

.X

‘X

f= 13.70 Hz

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

.X

‘X

‘X

.X

‘X

f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
X
f=320.00 Hz
—_— = Zxy Impedance
= Zxx Impedance
x = Impedance Strike
————— = Tipper Magnitude
0 ! /Strike
= Induction Arrow
0 ! (to conductor)



USGS

Sounding KK02

&

5

S

e

e

f=0.0055 Hz

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

D

o)

D

D

.><

f=0.0730 Hz

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

€D

.><
X

&

%

5

f= 1.02Hz

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

D

&

D

>

X

f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X X x %
X
O
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
X‘
f=320.00 Hz
—_— = Zxy Impedance
= Zxx Impedance
x = Impedance Strike
= Tipper Magnitude
0 /Strike
= Induction Arrow
0 1

(to conductor)



USGS

Sounding KMO1

X X
@X | X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X éx X § ;<
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
é éx é g % @ 'X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
x x x x x
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
x
f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding MKR1

%

o

o
S

X

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

o

Q
Q)

l X

=

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

ﬁx
%X

. |
.><
X

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

l><

l X

. ’

. )

. )

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

.X

.><

. ’

I *

I x

f= 22.50 Hz

‘X

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike
= Tipper Magnitude
/Strike
= Induction Arrow
(to conductor)



USGS

Sounding ML0O1

$2

X

%

h

f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
3 % | :_% | 'X ‘
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz

&

. X

I )

l i

‘X

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

‘X

' )

‘X

' .

' )

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

l *

l .

.X

| )

'X

f= 22.50 Hz

&

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding ML02

)

kS

RY

f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X x
x
x
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz

b
©

. |
X

O

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

X
X

X
X

X

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

O
O

O
O

O

f= 22.50 Hz

O

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding MM13
X
X
X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz £=0.0034 Hz f=0.0055 Hz
X
x
x
X
x
f=0.0092 Hz £=0.0159 Hz £=0.0269 Hz f=0.0440 Hz £=0.0730 Hz
% ; X < X
X @ X @ @
£=0.1270 Hz £=0.2150 Hz £=0.3500 Hz £=0.5900 Hz f= 1.02Hz
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
@ @ @ X @
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
@
f=320.00 Hz
—_— = Zxy Impedance
= Zxx Impedance
x = Impedance Strike
= Tipper Magnitude
0 /Strike
= Induction Arrow
0 1

(to conductor)



USGS

Sounding ORO01

S5
RS

B

S

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

A

he)

R9
D

D

f=0.0092 Hz

f=0.0159 Hz

f=0.0269 Hz

f=0.0440 Hz

f=0.0730 Hz

b

.

.X

. x

I x

f=0.1270 Hz

f=0.2150 Hz

f=0.3500 Hz

f=0.5900 Hz

f= 1.02Hz

O
O

®

I *

I x

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

‘X

Q)

©

O

O

f= 22.50 Hz

Q)

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



Sounding PKO1

USGS
X X X
X

f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz

% X
X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X X X

| X @ ‘ ‘ ‘

f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz

©

O

. |

©)

©)

f= 1.72Hz

f= 2.81Hz

f= 470Hz

f= 8.10Hz

f= 13.70 Hz

)

&

. |

. |

.X

f= 22.50 Hz

' X

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



Soundin

PK

o

2

USGS g
X x % X
X . . .
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X X X X X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
x % X X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X X X X X

f= 22.50 Hz

.><

f=320.00 Hz

f= 40.00 Hz

f= 66.00 Hz

f=115.00 Hz

f=194.00 Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike
= Tipper Magnitude
/Strike
= Induction Arrow
(to conductor)



USGS Sounding PK0O3
: X X X ﬁi X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz £=0.0034 Hz f=0.0055 Hz
X X X X
f=0.0092 Hz £=0.0159 Hz £=0.0269 Hz f=0.0440 Hz £=0.0730 Hz
X X X X
X
f=0.1270 Hz £=0.2150 Hz =0.3500 Hz f=0.5900 Hz f= 1.02Hz
X X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz
X
f=320.00 Hz
—_— = Zxy Impedance
= Zxx Impedance
x = Impedance Strike
= Tipper Magnitude
0 /Strike
= Induction Arrow
0 1

(to conductor)



Sounding PK04

USGS
X
% | @
X
X
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X
x
X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X X X
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
X
f= 22.50 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

)

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS Sounding PK05
% X X X X
X é
f=0.0007 Hz f=0.0011 Hz f=0.0020 Hz f=0.0034 Hz f=0.0055 Hz
X X Z ;X ? ; X
f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
ZELX X ; x o
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
;x X X ;X ;X
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f=13.70Hz
; X X X ;x §<
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

D

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding REF1

<5
&

%
o
5

f=0.0007 Hz

f=0.0011 Hz

f=0.0020 Hz

f=0.0034 Hz

f=0.0055 Hz

B

S

hS

f=0.0092 Hz f=0.0159 Hz f=0.0269 Hz f=0.0440 Hz f=0.0730 Hz
X x X
; é X @ X . ‘
f=0.1270 Hz f=0.2150 Hz f=0.3500 Hz f=0.5900 Hz f= 1.02Hz
‘ bx ‘X X %X ‘(
f= 1.72Hz f= 2.81Hz f= 470Hz f= 8.10Hz f= 13.70 Hz
% X X
X .X
f= 2250 Hz f= 40.00 Hz f= 66.00 Hz f=115.00 Hz f=194.00 Hz

% X

f=320.00 Hz

= Zxy Impedance
= Zxx Impedance

= Impedance Strike
= Tipper Magnitude

/Strike

= Induction Arrow

(to conductor)



USGS

Sounding SR005

@ X
O
i
1
D

f=126.00 Hz

f=158.00 Hz

f=200.00 Hz

f=251.00 Hz

f=316.00 Hz

®
is
b
B
%

f=398.00 Hz

f=501.00 Hz

f=631.00 Hz

f=794.00 Hz

f= 1000. Hz

%

S

=

X
o

f=1260. Hz

f= 1580. Hz

f= 2000. Hz

f= 2510. Hz

f= 3160. Hz

=y

X

%X
@%X

@%X

f= 3980. Hz

f= 5010. Hz

f= 6310. Hz

f= 7940. Hz

%@

%X

&

%X

f=12600. Hz

f=15800. Hz

f=20000. Hz

f=25100. Hz

f=10000. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS

Sounding SR006

&
\%\X
kS

8

i

f= 50.10 Hz

f= 63.10 Hz

f=126.00 Hz

f=158.00 Hz

f=200.00 Hz

D

G
D
T

Y

f=251.00 Hz

f=316.00 Hz

f=398.00 Hz

f=501.00 Hz

f=631.00 Hz

i
hS
hs
VS

O

f=794.00 Hz

f=1000. Hz

f=1260. Hz

f= 1580. Hz

f= 2000. Hz

%
&
D
O

D

f= 2510. Hz

f= 3160. Hz

f= 3980. Hz

f= 5010. Hz

f= 6310. Hz

@ |

()

.= X

@ x

@ .

f= 7940. Hz

‘X

f=25100. Hz

f=10000. Hz

f=12600. Hz

f=15800. Hz

f=20000. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS

Sounding SR007

x5
%

%
R
R

f= 39.80 Hz

f= 50.10 Hz

f= 63.10 Hz

f= 79.40 Hz

f=100.00 Hz

&
®
©
D
D

f=158.00 Hz

f=200.00 Hz

f=251.00 Hz

f=316.00 Hz

f=398.00 Hz

®
P
©
B
%

f=501.00 Hz

f=631.00 Hz

f=794.00 Hz

f=1000. Hz

f=1260. Hz

®
D
®
®

)

f= 1580. Hz

f= 2000. Hz

f= 2510. Hz

f= 3160. Hz

f= 3980. Hz

D

3

@ X

SR

@ X

f= 5010. Hz

f=6310. Hz

f= 7940. Hz

@X
®X

o

f=15800. Hz

f=20000. Hz

f=25100. Hz

f=10000. Hz

f=12600. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS

Sounding SR008

o

B

S

®

s

f= 15.80 Hz

f= 20.00 Hz

f= 25.10 Hz

f= 31.60 Hz

f= 39.80 Hz

o
&

S

o
%

f= 50.10 Hz

f= 63.10 Hz

f= 79.40 Hz

f=100.00 Hz

f=126.00 Hz

T

is

%

%

%

f=158.00 Hz

f=200.00 Hz

f=251.00 Hz

f=316.00 Hz

f=398.00 Hz

®

%

%

S

b

f=501.00 Hz

f=631.00 Hz

f=794.00 Hz

f= 1000. Hz

f= 1260. Hz

D

DB
X5
33

D

f= 1580. Hz

f= 2000. Hz

f= 2510. Hz

f= 3160. Hz

f= 3980. Hz

pe
25
B
&
85

f= 5010. Hz

f= 6310. Hz

f= 7940. Hz

5

=

D

f=15800. Hz

f=20000. Hz

f=25100. Hz

f=10000. Hz

f=12600. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS

Sounding SR009

X
X
X

©
©

f= 20.00 Hz

f= 25.10 Hz

f= 31.60 Hz

f= 39.80 Hz

f= 50.10 Hz

D

D
e

R

B

f= 63.10 Hz

f= 79.40 Hz

f=100.00 Hz

f=126.00 Hz

f=158.00 Hz

B

®
2
D

s

f=200.00 Hz

f=251.00 Hz

f=316.00 Hz

f=398.00 Hz

f=501.00 Hz

o

&

K
2

g

f=631.00 Hz

f=794.00 Hz

f= 1000. Hz

f= 1260. Hz

f= 1580. Hz

&

<85X

o

o

3

f= 2000. Hz

f= 2510. Hz

f= 3160. Hz

f= 3980. Hz

f= 5010. Hz

Sl

&

5
9.

9

f= 6310. Hz

f= 7940. Hz

(=).
&

f=20000. Hz

f=25100. Hz

f=10000. Hz

f=12600. Hz

f=15800. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS

Sounding SR010

&

&

&

K

o

f= 15.80 Hz

f= 20.00 Hz

f= 25.10 Hz

f= 31.60 Hz

f= 39.80 Hz

X

&

&

ol

K

f= 50.10 Hz

f= 63.10 Hz

f= 79.40 Hz

f=100.00 Hz

f=126.00 Hz

o
D

®

®

F

f=158.00 Hz

f=200.00 Hz

f=251.00 Hz

f=316.00 Hz

f=398.00 Hz

K

&8

W

K

0

f=501.00 Hz

f=631.00 Hz

f=794.00 Hz

f= 1000. Hz

f= 1260. Hz

X

&

0.

@ x

&

f= 1580. Hz

f= 2000. Hz

f= 2510. Hz

f= 3160. Hz

f= 3980. Hz

s

%@X

&

)

8]

f= 5010. Hz

f= 6310. Hz

f= 7940. Hz

X

5
o)
&

f=15800. Hz

f=20000. Hz

f=25100. Hz

f=10000. Hz

f=12600. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS

Sounding SR011

&
@

&

&

&

f= 15.80 Hz

f= 20.00 Hz

f= 25.10 Hz

f= 31.60 Hz

f= 39.80 Hz

&K
&

K

&
&

f= 50.10 Hz

f= 63.10 Hz

f= 79.40 Hz

f=100.00 Hz

f=126.00 Hz

&

D

8]

g

ot

f=158.00 Hz

f=200.00 Hz

f=251.00 Hz

f=316.00 Hz

f=398.00 Hz

o

B

®

=)

i

f=501.00 Hz

f=631.00 Hz

f=794.00 Hz

f= 1000. Hz

f= 1260. Hz

b

4
9

%X

%X

f= 1580. Hz

f= 2000. Hz

f= 2510. Hz

f= 3160. Hz

f= 3980. Hz

%

=

@ :

@ X

@ X

f= 5010. Hz

f= 6310. Hz

f= 7940. Hz

Q
S
O

f=15800. Hz

f=20000. Hz

f=25100. Hz

f=10000. Hz

f=12600. Hz

= Zxy Impedance
= Zxx Impedance
x = Impedance Strike



USGS
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